(MONTROLDTM

NMRV SERIES SPEED REDUCER

STRUCTURE FEATURES

* High quality die casting
aluminium alloy and cast iron
housing suitable for universal
mounting.

* Fully cooling reducer body
provides better cooling effect.

* 8 frame sizes: from 030to 130.

* Power range: from 0.06kw to
7.5kw.

* 12 Speed ratios: from 5:1to 100:1.

* Hardened worm shaft with precise
grinding ensures higher efficiency and
larger outputtorque.

* The input flange of reducer can be matched
with motor flange.

* An output flange can be installed for the fixed
connection ofreducer.

* Low noise and stable running, suitable forlong term continuous operating in wicked conditions.
* Light weight and high mechanical intensity.

MAIN MATERIALS

* Housing : die-cast aluminium alloy (frame size : 030 up to 090);
cast iron (frame size: 110 up to 130).

* Worm shaft: 20cr steel, carbonitriding processing (the hardness of gear surface is HRC60 and the
thickness of hard layeris over 0.5mm after precise grinding).

* Worm gear: special wearable nickel bronze alloy.

PAINT
* Aluminium alloy housing and castiron housing: Electro-painting process.

IS09001 €© (€

Prn— 07-709, Jal | , k ,
THONG FATT JAYA MACHINERY HARDWARE SDN. BHD. 31400 Inoh Porale Mooy o aselJaya
Tel: 00-605-5468 659, 5455 751, 5479 196, 5454 107

‘l =
- Y" Fax: 00-605-5482 282, 5474 753
'5 (176024-V) Email: tfiaya@streamyx.com / tfiaya@tm.net.my

Website: http://www.thongfattjaya.com.my

Due to the policy of constant research and development, specifications may change without prior notice. | C.N.: MONTROLI-E Section R01-04 / 180820071
Copyright © Thong Fatt Jaya Machinery Hardware Sdn. Bhd. NMRYV - PAGE 1000




(MONTROLD NMRV SPEED REDUCER

SPECIFICATION DATA 1

KW |[NMRV| i = M KW |NMRV| i e M KW |NMRV| i = M
(r/min) | (N.M) (r/min)| (N.M) (r/min)| (N.M)

030 5 280 1.8 040 80 18 336 040 10 140  21.2
006 | 030 75 186 26 012 | 050 80 18 347 037 | 050 10 140 215
030 10 140 3.4 040 100 14  39.0 040 15 94 30.5
030 15 94 48 050 100 14  39.6 050 15 94 30.6
030 20 70 5.5 030 5 280 5.4 040 20 70 40.0
030 25 56 7.2 018 | 040 5 280 54 050 20 70 40.7
030 30 47 8.2 030 7.5 186 7.9 040 25 56 46.6
030 40 35 8.5 040 75 186 7.9 050 25 56 48.7
030 50 28 116 030 10 140 102 040 30 47 51.2
040 50 28 124 040 10 140 103 050 30 47 53.8
030 60 24 128 030 15 94 144 050 40 35 67.0
040 60 24 126 040 15 94 148 063 40 35 72.3
030 80 18 138 030 20 70 165 050 50 28 80.1
040 80 18  16.8 040 20 70 195 063 50 28 83.3
040 100 14 195 030 25 56 215 050 60 24 80.6
030 5 280 27 040 25 56 @ 22.7 063 60 24 86.5
009 | 030 75 186 4.0 030 30 47 246 063 80 18 1135
030 10 140 5.1 040 30 47 249 063 100 14  122.6
030 15 94 7.2 040 40 35 328 040 5 280 166
030 20 70 8.3 050 40 35 340 055 | 050 5 280  16.7
030 25 56 107 040 50 28 371 040 7.5 186  24.3
030 30 47 123 050 50 28  39.0 050 7.5 186  24.6
030 40 35 128 040 60 24 379 040 10 140 315
030 50 28 17.4 050 60 24 392 050 10 140  32.0
040 50 28 186 050 80 18 521 040 15 94 45.3
030 60 24  19.2 050 100 14  59.3 050 15 94 45.5
040 60 24  19.0 040 5 280 7.6 063 15 94 46.7
040 80 18 252 025| 050 5 280 7.6 050 20 70 60.5
040 100 14 293 040 75 186 11.0 063 20 70 61.6
030 5 280 3.6 050 7.5 186 11.2 050 25 56 72.3
012 | 040 5 280 35 040 10 140 143 063 25 56 73.2
030 75 18 53 050 10 140 145 050 30 47 80.0
040 7.5 186 5.3 040 15 94 206 063 30 47 83.3
030 10 140 6.8 050 15 94 207 050 40 35  104.0
040 10 140 89 040 20 70 270 063 40 35 1075
030 15 94 9.6 050 20 70 275 075 40 35 1157
040 15 94 9.9 040 25 56 315 063 50 28 1239
030 20 70 11.0 050 25 56 328 075 50 28 1443
040 20 70  13.0 040 30 47 346 063 60 24 1286
030 25 56 143 050 30 47  36.4 075 60 24 1565
040 25 56 151 040 40 35 456 075 80 18 2158
030 30 47 164 050 40 35  47.3 075 100 14 235
040 30 47  16.6 050 50 28 541 050 5 280 227
030 40 35 17.0 050 60 24 545 075 | 050 7.5 186  33.6
040 40 35 219 050 80 18 72.4 063 7.5 186  33.8
050 40 35  22.7 063 80 18  76.7 050 10 140 436
030 50 28 232 063 100 14 828 063 10 140 445
040 50 28 247 040 5 280 112 050 15 94 62.0
050 50 28  26.0 037 | 050 5 280 11.2 063 15 94 63.7
040 60 24 253 040 7.5 186 16.3 050 20 70 82.4
050 60 24  26.2 050 7.5 186  16.6 063 20 70 84.0




(MONTROLDTM

SPECIFICATION DATA 1

NMRV SPEED REDUCER

kw |[NmRv| @ | M | M kw |[NmRv| @ | M2 | M kw [NvRrv| i | M2 | M
(r/min)| (N.M) (r/min)| (N.M) (r/min)| (N.M)
063 25 56 99.8 110 50 28 392.9 130 40 35 637.6
0.75 | 063 30 47 113.6 15 090 60 24 4238 3.0 110 50 28 785.8
075 30 47 124.4 110 60 24 435.1 130 50 28 7755
063 40 35 146.6 110 80 18 5507 130 60 24 8940
075 40 35 157.8 130 80 18 5340 075 75 186 1868
075 50 28 196.8 130 100 14 6722 Il o0 75 156 1853
090 50 28 186.1 075 7.5 186 102.8 110 75 186 1850
075 60 24 2134 22 | 090 75 186 101.9 130 75 186 1871

090 60 24 2119 110 7.5 186 1018
090 10 140 2451

090 80 18 261.1 075 10 140 1357
110 10 140 243.1

090 100 14 292.7 090 10 140 134.8
063 75 186 496 110 10 140 133.7 13010 140 2431
11 | 075 75 186 514 075 15 94 197.3 00 15 94 3577
063 10 140 653 090 15 94 1967 110 15 94 3%03
075 10 140 678 110 15 94 1927 130 15 94 3%43
063 15 94 935 090 20 70 2549 0% 20 70 4635
075 15 94 986 110 20 70 2545 110 20 70 4627
063 20 70 1232 090 25 56 3095 130 20 70 4693
075 20 70 1277 110 25 56  319.2 110 25 56 580.4
063 25 56 146.4 090 30 47 3624 130 25 56 5764
075 25 56 159.2 110 30 47 3545 110 30 47 6445
063 30 47 166.7 110 40 35 4658 130 30 47 6526
075 30 47 1825 110 50 28 5762 130 40 35 8501
075 40 35 231.4 130 50 28 568.7 130 50 28 1034.0
090 40 35 229.7 110 60 24  638.1 130 60 24 11920
090 50 28 272.9 130 60 24 655.6 110 75 186 254.4
090 60 24 3108 130 80 18 7831 55 | 130 75 186 2572
110 60 24 3191 130 100 14 9859 110 10 140 3343
110 80 18 4038 075 7.5 186 140.1 130 10 140 3343
110 100 14 4712 30 | 090 75 186 139.0 110 15 94 486
063 75 186 676 110 7.5 186 1388 130 15 94 4872
15 | 075 75 186 701 075 10 140 185.0 110 20 70 6362

063 10 140 89.1 090 10 140 183.8
130 20 70 6452

075 10 140 925 110 10 140 1823
063 15 94 1275 075 15 94  269.0 130 25 %6 7925
075 15 94 1345 090 15 94 268.2 1030 47 8973
063 20 70 167.9 110 15 94 2627 130 40 35 11689
075 20 70 1741 090 20 70 3477 110 75 186 3469
075 25 56 217.1 110 20 70  347.0 75 | 130 75 186 3508
090 25 56 211.0 090 25 56 4220 110 10 140 4558
075 30 47 2489 110 25 56 4353 130 10 140 43538
090 30 47 2471 090 30 47 4941 130 15 94 664.8
090 40 35 3133 110 30 47 4833 130 20 70 8799
090 50 28 3721 110 40 35 6351 130 25 56  1080.7




(MONTROLDTM

INSTALLATION DIMENSION

@®

G

NMRV SPEED REDUCER

)
N @\fﬂ 3e
NNy
PN
NMRV 030 040 050 063 075 090 110 130
A 80 100 120 144 172 206 252.5 292.5
B 97 121.5 144 174 205 238 295 335
C 54 70 80 100 120 140 170 200
C1l 44 60 70 85 90 100 115 120
D(H7) 14 18(19) 25(24) 25(28) 28(35) 35(38) 42 45
E(h8) 55 60 70 80 95 110 130 180
F 32 43 49 67 72 74 - -
G 56 71 85 103 112 130 144 155
H 65 75 85 95 115 130 165 215
H1 29 36.5 43.5 53 57 67 74 81
| 55 70 80 95 112.5 129.5 160 180
L1 63 78 92 112 120 140 155 170
M 40 50 60 72 86 103 127.5 147.5
N 57 71.5 84 102 119 135 167.5 187.5
(@] 30 40 50 63 75 90 110 130
P 75 87 100 110 140 160 200 250
Q 44 55 64 80 93 102 125 140
R 6.5 6.5 8.5 8.5 11 13 14 16
S 21 26 30 36 40 45 50 60
T 55 6.5 7 8 10 11 14 15
V 27 35 40 50 60 70 85 100
PA 545 67 90 82 111 111 131 140
PB 6 7 9 10 13 13 15 15
PC 4 4 5 6 6 6 6 6
PE | M6x11 (n=4) | M6x8 (n=4)| M8x10 (n=4) | M8x14 (n=8) | M8x14 (n=8) | M10x18 (n=8) | M10x18 (n=8) | M12x21 (n=8)
PM 68 75 85 150 165 175 230 255
PN(H8) 50 60 70 115 130 152 170 180
PO 6.5(n=4) 9(n=4) 11(n=4) 11(n=4) 14(n=4) 14(n=4) 14(n=8) 16(n=6)
PP 80 110 125 180 200 210 280 320
PQ 70 95 110 142 170 200 260 290
b 5 6 8 8 8 10 12 14
t 16.3 20.8(21.8) | 28.3(27.3) | 28.3(31.3) | 31.3(38.3) | 38.3(41.3) 45.3 48.8
o 0° 45° 45° 45° 45° 45° 45° 45°
ol 45° 45° 45° 45° 45° 45° 45° 22.5°
Kg. 1.2 2.3 3.5 6.2 9 13 35 48




	1: PG0
	2: PG2
	3: PG3
	4: PG4

